
Algebra - quadratics

EXPANDI NG AND FAC TORIS ING





Recap!

Factorise: 

x2 + 9x + 20

x2 + 13x + 30

x2 + 12x + 36



𝑥2 + 3𝑥 - 10
Add  +3
Multiply -10

What two numbers 
multiply to make -10? 
Then, which add to 
make +3

+10 , -1
+1 , -10
+5, -2
+2, -5

Factorising!

(x + 5 ) (x - 2)



𝑥2 + 2𝑥 - 15 𝑥2 - 2𝑥 - 24𝑥2 - 4𝑥 - 21
+ = +2

x = -15

+ = -2
x = -24

+ = -4
x = - 21

(𝑥 )(𝑥 ) (𝑥 )(𝑥 ) (𝑥 )(𝑥 )- 5 + 3 - 7 +  3 - 6 + 4



𝑥2 - 2x - 35

𝑥2 + 2x - 24

𝑥2 + x - 12

𝑥2 + 9x - 10

𝑥2 - 4x - 32



Traffic light your work today.

Thumbs down- I don’t understand it

Thumbs across- I understand some of it

Thumbs up- I understand all of it



A further task will be on the website for you to 
complete later today – one merit for all who do 



